Introductory Statistics HW #4 Solutions Pl

Dr. Crutcher

(%x=RY (r-x)"

O-1.5= -Ly o 2T

U"L'{'.‘._J_g— 2.5

0

()

= =Tz 4.€ Sge
o

3 3-l§-ie  2aF

o
b, qou se comniedionad forande for S
¥ X
P T
g 2 SSea BK = éﬁb
= e T
I =N
.2 8 lg-
: t
x= 1=K el s
L
[ *———:—T
A |‘EI?'L’II - HI"||"'|| L
S.,c-..l.,.;_:_ Gt

e i m el g gty sty T . .



HW#4--p2

GL) . | : P X S lorOorlt2te
A [E e | y
Pol i o I

1 hj_q ; |
1 N E
.k R 5 bk o | = 5 \l
o Loty
=4
b)) Shortest &Aéﬁwf %m“ e = < o esh shad dey
foetliest = G - gi{f. = m
‘?__ o
Ly K, W= o, (‘J-& _‘;,EJL
T D=1 =+ >
O Q=tke o e
(e == 2 H
2 A-Y=-3 t
Z wHeo 4
(e s= s<
==
d:"]ﬁ'::: ﬂ}( “:L'.j %’_= '{:i-'_@"'-'ll.ltwl
l - | | 4 e
.- [T \‘F—? e = H]
=~ | ﬂ_i ﬂ'—-:‘ \_I{"-L 10“3[1'



HW#4--p. 3

o~ - ; | X o e wee
@/-pﬂr:mﬂ_,“ H Wl anand EI.L-II_J.E R

s @ A= Eric+d T
i A5t

4 B &
T

| — 1-1 - =3

_ L] I 1] 1
| ES i = g £ ™ ::- o, T T T4 VL Wi
oo, e,
EE;+ . cles -"'-’:-Jr 5o ;‘I‘ ih—lr‘f! e "'-*-HLJ 11?;.!...-_-1-.--._ P Ea_

I — i -
#ﬂa i"‘ﬁn.l'__‘.I & Ot ~ {1_ |54 {:;_.t_.l_,l;,._,-ja j.II.r‘LA-".ﬂ' sl el

& 3.3

——— =

feticy o A5 o T
{:‘I S -

K
v Y-P=0 O
s 0-¥= +2 &
o Y= =Y 'L
3 'Eﬁ—g'-:_'{} o
5 By d
1 2 -9 = +5 . s

|



HW# 4—-p. 4

E .T;"‘.g' byl 2
g - s
'\j M |+ +G+ O + 4 _ L_\
=3
}:‘- }{_',L'{l {:x‘_,__rj_,b{
j |- H = 3 °
L G dete i
9 oS 25
C -4 =—" 1 &
-- H-4= O o’
S 2
’ S §-41)

L'B i_(r‘ﬁ-—,fu'.\j = 3

‘:> 54 2
&) g S [.lr{_t-E-ﬁ-rh':_L e izA SC} = é é"-{ H}-’Dl
- L.af:u CJQ,—{. “—lt’f‘xﬂ._ g{:}{r?‘,\)b

Scewa  Oellitn .,QEEII“ e



W& 4—-p &

_—— T

—

..-Lrl: =i

'5'3 ol s Lo Ne  claind éf' st lm;(t' L& v ( ce ﬁm-ﬂ
|| 5-['5‘-’1“-&"—'-'\&" I§l~"ii.'--J..' c;-.i'—,:a-x :ﬂ -1-4‘»52"‘-5

-'E_f"""—-—-—._._____‘ 4w

WK, =2 D% onu.  of g secous (E‘:;{'?B 1S

\E‘C‘W‘E‘EA f e uﬂu EF.JE&E/L l;é-{l I"h:’n.ﬁ tlglj,;;.‘s-'._ll':r:-. L;;.(Q‘.mutm C(-“l
WA LY {i :
T ¥ler dedus ave editewe Vetlues



HW# do-p. &

)
£3 |
- : .
1nll L1
i I s S A "~
'L. r'!:'-.l-""l%ﬂ_ = NS -5 T Ll_f:n__ }

Q. ;ﬂﬁriraluo.rlrjr: WH-GE L vt'mé It ?M&G ! Qﬂ.
AN 7o ij:{, - Q |

c,v-ti'ﬁ*a:}i-&. on
Cﬂ ;2’ &C" "l&'ﬁjﬁ—ﬂ S el af e = ‘.3'-5'?“ . a<
e ol RO T

h e,
X Y l:'_'_"'n_ {;r;lﬂ
= ~ S ior 7B
7 | e /e : . T
b e 19 LT S &S % - RO =-dS
5 o ! W =732 = el T
- . _ ) B (I - b kol ] .
1.5 S T & @
e - 4T 2 4s Y —
35 9 et T HY o
l.:'.; e — . [ — |.'|. = ‘:I El 4'5"{!{-\,[;
el B2 5 ot 35 = AsTh i
i 2 pay 'l.mn_‘ o = [D“}t. .._,l..-.
- —|-Ilr._
= el



HW# 4..p. 7

5ol
3-£--3

. [ |;‘__|--I

£ Rl

L{ S cngdd QJ, C"{ g:'l < 5
+F+o + 2- = _Lz_r_h = 2
;_.f.
(X=m)
|
9
<5
: -, !'“""'-—-—r
i{_:‘:_lfija: II'?:,.Gll - 5_%-
ISR |
e A
i Q;I - k%
by2,0, 2, 4 — 53,1\, 5
“{"II: gl—éﬂj
) e
L;,,;._,L,L‘)L I
——'_l'_'_‘-h___ l:-[l
2
j N4 ﬂl
”_; = +5 25 .-rlr‘_._'_ ™
t Q":.{E.,l,ffi-ﬁ?g.
G s — g 5 =

S (x-nm) - 35 = BL)



HW# 4-p. &

.'-L-.;_;;__Jr-
1‘5“‘] A = 4ot "i
= it
=2 . &
Y % - AN (x -#1)° -
b i = 3S: 148 o an
...T “J| IL- -1 _.-—..- 2 |IL»—-IE.?__
, ™ H
s g 36 —
1“" =L =410 Tale! ;__:.-Iilii r-lll'r%!';- ’ZQ
H 4= == & a 2

L.d':j Qtﬁ‘*&-{-kg &1 I'_'-::'-L-'u.S._L-'t'--‘:i\ ':LGE:- 5-1.‘?.-:—{\_& ELkW‘-‘(_;e_ ‘“'Jr’ﬂt-L.
deviohion < cemas L{Hé does ""“_'E:'_Jr Cimm?r& A

.’-':'-’I'\:Luﬂl_mﬂé é‘_"il..f'l-::\::'[é:. G

@ j t_A',,J]'f".E,"-*" IE"L:J.«';JE-& SCeanle 3 'umu,[']:-L ;:‘luttL !bj
Q-{:“’H‘Eq'd'*'*'& \'ll'-'{"tf.. &"E—L-"-CCL‘LDP‘I._'E} Ca_mé _H/[_,(‘_ -f;.Jﬁl‘.'.‘.ec._ M_dc:._ P&

‘C!L“E'Jw:.-!:('cl.ﬂm ==  curye cstlki.ﬂ- bt L1V J‘i‘thﬁ[n&_é b% k"ﬁfx@ﬂ

Constg m:lr





